
FUNTIONS CLASS X CHOPTER 2- KELATIDNS hUNTION& 

ExERCISE 2 (NCERT) 
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CA) 3 
Abo B-3457 ns)-3 

Now Aumber of elemenis i AxB - n(AxXB) = M{A)xn[B) 

= 3x3 9 

G78an H{542} hnd GxH and HXG 
Here G {,9} and H:5,4,} 

GKH C3); a«G and jen 

7), (7,+), (7),(8,5) (8,(e, 
HxG:{() ; xeH ond j eG 

9NoS 

Sol 
NoN 

qnd 

5,1) (5,8)(4,7)(,), (,7)(,5) 
Stale wshelther eah o follown slalemonls ave tyue o 
a lse he slate mení is fals, ve wtlo he }ve 
ralanet Correcl 



) A md B are mom-emply sel ,then AxB 1 nenenpy 
ser oYclered pars (x) suchthet eA and ¬B 

u sfA.,B34, hon Ax (Bng)- 
Here Pmn,o{7,n 

Pxo nn)(m,), ) M)} 

then 
set 

Sel folse 

satenent. Core 
TEue 

un) Tue 

SA-11fd AxAXA 

AxA,xf- -),) ),00 
AxAXA -1-), (-1 -2,E) 

No 5 
Sol. 

No AxB =Ca,),(), Cb,)Jb. a) A and B 

Here AB Co),ea), +){>)) A Set f frst elemenla,b 
BSel oSemd elemenla -%,37 

Let A2} B-{}2,34}, c {5p-{567e 
Ven that ( Ax(enc) (AXn(Ax¢) 

0 (AXC) IS Subset of BxD 
tere A- , B-,3,4 c5, D-\5,2e 

0No 7 

AXBC,) L2) ()3)(4) (41)2) (,3)(2)) 
(,5)64),5), (,0} 

)LHS Ax(Bnc) - ya}x d : 
RHS (AXB ) DAXC) - fem 0) od i 

AxC (n) 

LHS RHS 



6xD *{56,7,8) 
105)00)0) E5)6¢)E) (2), 
35) )3D(58) 4,5) 44)(4) G)} 

Since every elemenl of AXC S h BD, 

Axc CBXD 
ONO 8Ler A- } B. f34} . Weite AKB. Ho man 
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&Nolo he Carte sjan Produc AXA has 9 elemen The 
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